Activity:  Solving equations with variables on both sides
	Standard:  5.0  Students will be able to solve multistep problems, including word problems, involving linear equations and inequalities in one variable and provide justification for each step.

	Objective:  Students will be able to solve equations with variables on both sides.

	Essential question:  Solve 5x + 3 = 8 – 7x

	Key vocabulary:  Addition, subtraction, multiplication, and division properties of equations, equation, solve, simplify, solution

	Materials:  Index cards, one for each student with a first degree algebraic expression with a minimum of two terms written on each index card, Graphic organizer, at end of this activity.


Activity:  Provide each student with one index card.  At your instruction, students are to get up from their seat and find a partner.  Once they have found their partner, the two sit down to complete the graphic organizer.  On the next available problem number, enter your partner’s name, then enter the equation that can be made using your two index cards.  Solve the equation together, each student must have the worked out solution on his/her paper.  Get up and find another partner and repeat the process.  Continue until time is called.  
ATLERNATIVE:  If you don’t want to let students move from their seats, try this adaptation.  Put several of the expressions in an envelope and allow students in a pair or group to choose two expressions and create their equation from that.  It still allows for the randomness of the problems, but without the confusion of students moving about the room.  Differentiation can occur by selecting different expressions to be included in the envelopes.

Differentiation strategies:  Selectively assign algebraic expressions to your students.  For example, a special ed student would get an index card with 2x + 5, while an advanced student might receive -3( 6 – 4x).  By doing this a special ed, strategic, or intensive student would have one side of the equation with a simplified expression using easier numbers and signs.  To monitor the distribution of the expressions, use colored index cards, helps to quickly assign expressions to students.

Extension:  Can repeat the process with inequalities.  See attached worksheet for adaptation for inequalities.

Activity:  Equations with variables on both sides

Name ________________________










Date _______________ Period  ___

My expression  ________________________________

	
	Partner name
	Equation/work
	Solution
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Summary:
Activity:  Inequalities with variables on both sides

Name ________________________










Date _______________ Period  ___

My expression  ________________________________

	
	Partner name
	Inequality/work
	Solution

	1.
	
	                                 ≤
	

	2.
	
	                                 >
	

	3.
	
	                         <
	

	4.
	
	                         ≥
	

	5.
	
	                             ≤
	

	6.
	
	                                         >
	

	7.
	
	                                         <
	

	8.
	
	                                           ≥
	

	9.
	
	                                        ≤
	

	10.
	
	                                        >
	


Summary:
	Directions:  Copy this sheet on one color of paper and the second sheet on another.  Matching two different colors will result in an equation that can be solved.  Also the first page has simpler expressions to be use.

	2x + 7
	2x – 3

	2x + 15
	2x – 10

	8 – 2x
	13 – 2x

	3x – 1
	3x – 9

	3x + 5
	8 – 3x

	17 – 3x
	-3x – 9

	-3x – 2
	4x – 7

	9 – 4x
	-1 – 4x

	-5 – 2x
	21 – 2x


	5x – 11
	8x + 3

	8 – 7x
	12 – 7x

	6x + 5
	6x – 15

	8x – (3x + 4)
	7x – (2x – 1)

	3x + (9 – 8x)
	6x – (x + 3)

	3(5 – 3x)
	2(3x – 5)

	-3(2x – 4)
	-5(7 – x)

	12x – 13
	9x – 2(x – 4)

	2x – 3(4x + 1)
	12x – 3(2x – 4)


Easier ones
	5x – 11
	8x + 3

	8 – 7x
	12 – 7x

	6x + 5
	6x – 15

	8x – 3x + 4
	7x – 2x – 1

	3x + 9 – 8x
	6x – x + 3

	3(5 – 3x)
	2(3x – 5)

	-3x – 4 -3x
	-35 – 5x

	12x – 13
	9x – 2x – 4

	2x – 12x - 1
	12x – 6x + 4


